Efficiency vs P,

10.05
o
9.045
>
20.04
[}
2.035
[J]

0.03
0.025

0.02
0.015

0.0 T oo R
0.005f----vrermnieemeeennnns P RRRREE e

1.0

Ratio

[y
TTT T

107 1 10 prT (Ge\})o3

—=— ././CMSSW_13_2_X_2023-05-08-2300/src/DQM_TT__mkFit-DQM_new132

—— DQM_TT__mkFit-DQM_newfastPlus132

= 0.1
2
20.09
2
§0.08
o
£0.07
[}
0.06
0.05
0.04
0.03f---
0.02
0.01
+OF

................................................

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
N
;
.
N
T

Ratio

Efficiency vs ¢

£0.05
2]
2.045
2
50.04
(&)
0.035
(]
0.03
0.025
0.02
0.0158'4;
0.01E
0.005E

................................................

1.0 B

Ratio

||'-|||

TP @



	Contents
	Page 1


